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Candidates must write the Code on
the title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(i) 39 Jo7-99 %1 g WFT, I 37 K G &, § Fier T8 | S79%1 @1 9T @& 5l & I
fergd & |

(i) G g7 IR E

(iii) 3TTT%H] YT 37 R 97T § & G4 F97] & IR G- J9% 97T & HTYR R [c7@+ 3 |

(iv) T&T YT 37 & T 3P & A7 I571, Gid 37 & @ 971 3K 977 7 7 3 37% & T Jo7 7
S7TTRF I 15T TT 8 |

(v) M3 & 97 G&T1 37K 2 UH-U 37% & Yo7 & | 575 I U Vg 379l U ] 7
g /|

(vi) YT 3 %G9 GEIT3 85 -1 31 & F97 8 | 3735 IR 7T 30 V1G] F a7 8 /

(vii) YT 37 % J97 =16 G 15 7~ 3751 & 597 & | 579 TR T 50 ez H 57 8 /

(viii) T 37 & G971 GEIT16 821 Ta-9ie 3] & J97 & | 579 It T 70 91 F 37 8 /

(ix) 77T T & 97 G&IT 22 T 27 JINTIHF FIFIT T TR §1-51 371 & 97 8 | 578 I
arRETRE |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each

question is a two-marks question. These are to be answered in brief.
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Section — A

1. TSH T FAN | ST 77 o 1 Tcl Hed o UMl ohl HehtUl HhG ol aTet Het o el |
HAT TR | F, Tl § 91 GRom It 8 7 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F; progeny ?

2. et foegd 99 H M Aol Sl —FqT=uT fTfaT | 1

Write the energy conversion that takes place in a hydropower plant.

3. I3 AIfR <X TR |G HeReh 317 o 919 443 K T TH i T 15 g Afieh
Y’ ST & | Afes <X difeam grg | ot sifufsen e g e+ e e 2
feperdt 8 1 X0, Y QYT ‘Z° Bl UEEIHT | Y’ 3 B <hl TEEe AR &
TteRtor +ft feTfaT T 39 |ig Hor{ieh 317 hi HfHeT o1 Seor@ i HIfT | 2

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X, Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of “Y’ and also write the role of sulphuric acid in the reaction.

4. (a) TFEH UTC M Tl Th W HAGH UTET TUT Teh ST 3T A1 fetfau | 2
(b) = fou Tu = % verg 3@, fed g faega e % w9 § T K ], B
310 I gfctent T Eiaeht 398 a 3R b 1 A ferfew |
g | — | a | — | b | — | dfreer o 3ifaw fa

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | —> | a | ——> | b | —— | End point of Neuron
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5. e el mmiefrr gdu grr soek o W famar <t fopeft oft feufa & fore wea & foma o1
e 3R TTEs | Biel Ufdfer s=a1 7, a1 T8 gUuT fhd JhR &1 & 7 3199 37N i gfee %
fore rmifera fomor s wifw | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.

6. forasm (3muea) srfifsranati O AT Ren] 1 dre o foTT a1 a1 SAT 37T TehTsT 7T
Terea Saott bl STTarverehal Bi & | ek WehR shi ferrior frfspan, foram s, wepmar 37k
Terera St St 3mfed <hi STt B, o fotw weh - e Tremeh wieRr ferfiaw | 3

Decomposition reactions require energy either in the form of heat or light or electricity
for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

7. Tl wrEeht # gHeR S % $® gohe oot 3UH 2 mL Wfeam gsgiadse o foerm
STEAT TR | TR ht ATt bt T o TR IS 719 Scafoid g3 el T0& id § qd
3G |req % foera @ yanfea feren e food 9 & gorget 99 | g9 areft sifufeen
THRLUT AT 39 19 o HY=H o [o7C wEer fafey | Jfe It a1g Tt e o/ & ad
forerem & arfufsran &, a1 ST fie scafsia gt sgee T fafa | 3

AU

ThIST i TTIESE I TAT T o foTw Ui femu ST aret femeft e 61 pH AT 14 7 |
TH TGV I TEATHT AT $Heh AT o feT Tramarfes Tientor fafaw | 6o < S <6l
A ST |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal

taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR
The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.
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8. (a) <hIEH o AfereHTer ek forgd o Fametd R B 8 7 3
(b) Toreht UF Tqed AT 1 AW SR IHhT T ST e e ] I 6 €9
T Efed 81 8 | 38 i H TR Ushel 374t st g faafau |

(a@)  Why are most carbon compounds poor conductors of electricity ?

(b) Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

9. fom=fciRgd sma.ameh ufert gro fad gimiEl o1 A 91 I i Tsh T feiflgy | 3
(a) FURF (b) I () =W

Name the hormones secreted by the following endocrine glands and specify one

function of each :

(@) Thyroid (b) Pituitary (c) Pancreas

10.  3Teifieh S 3R iR A o 9 T 3= foiRau | 31cifies S o areft sieran
<Afieh I T ool SRS H & fopeeh g Sid TRl sl STRSHfAr o 3tuatehd
T TN &1 Tehd & 7 319 ST oh! gfse < forw s i | 3
Write one main difference between asexual and sexual mode of reproduction. Which

species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.

11.  TehI1 % 39 o o0 fefau | ug “ferelt mreem =1 fuer stued-ies” <t e Shifse
3R 39 Ye a1 fAaia § Tehrst <hl =1er o 19 & G ol < o fou =5t fafau | 3
JAYdT
Topeft o1 <l &1 @ R AR @ ? ST ST AT RaT | 15 T 40 cm HIhd g4 &l
oIH ITANT HL TET & TUT HIg 3 BT 20 cm B Gl 1 H ITANT HL T 2 | 1 GHI
et <6t Fepfa ST e fafa |
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State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR
What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

12. I8 gy T i Ufeernt, o gedes ot Ufalier 9 Q &, w1 319 ford TehR TaifTa i
Top TS &1 gt wfee (i) 13.5 Q, (i) 6 Q WA &Y ? 3
YT

(a) S 1 arod Frem fafaw |

(b) < forea oivq T8 | T 1 31HA 100 W; 220 V 7T Q8L T 60 W; 220 V 3,
foreht ferega e & wr TwesRn o wAfTa § | Afe ferega smafd s deedn 220 V 2,
1 Sl sesit g ferega e & ferat o ot St @ 2

Show how would you join three resistors, each of resistance 9 Q so that the

equivalent resistance of the combination is (i) 13.5 Q, (i1) 6 Q ?

OR
(a)  Write Joule’s law of heating.
(b) Two lamps, one rated 100 W; 220 V, and the other 60 W; 220 V, are connected

in parallel to electric mains supply. Find the current drawn by two bulbs from

the line, if the supply voltage is 220 V.

13. (a) Torelt =rmereh, frEeh! 3Tmepfa ar St 2, 1 Wferig {59 sRent T fsR s°tar 7, et
A ST |
(b) o forega Y 7=t <ot TUT i fIRd 1 FaTeTh Fi AT 8 ? HRU ST |
(c) Torega arom ot & wreT=ra: st s SwRT S foRaT STaT 8 ¢ R e | 3
(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.
(b) Why are metals good conductors of electricity whereas glass is a bad

conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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14, ol foemer & BET 9 WA:HIEH 997 § 98 FHER g1 76 foooh 9 %2 &1 %18 9o
IS ® T 3R % AT 39 Tere | o Tff | o o oft et 21 e 31 X 3R
Sftheh ST 21 T | ek weled | sifge T ° oft SEt fowe ==t Y qen Bl | R
THEI 1 A WIS 6 [T a1 | 3T=0q: BEI A a1 forrg3ti 1 Feepy fehren — vgen 98 8
o ST ST &7 3091 hLd & SHHT Y6 1 T o, TUT g I8 Toh Tl &R o &0 e

HET 3G A | 3

(a) T HST EH 39~ hLd & IHeh TS-EH o gl IUTI GITT |

(b) Tl TR W, 8 & FH HI1 39 A o [T FH T L Fehd & 7 @ foig T |

(c) 38 T H ek weled 4 59 qodi o fawa 4 sl o e & 3 9 a1 qedi 6

il §H1T |

Students in a school listened to the news read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points

— one is self management of the garbage we produce and the second is to generate

less garbage at individual level.
(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. w19 1 SId1 2 ? B9 9 91Y F&b S 98 3 7 9 S o A o g5y e =
LTS Rl A W1 TR, dTfes AT < | wifd 941 W&, ITehT Iooi@ hHIFT | 3

What is a dam ? Why do we seek to build large dams ? While building large dams,
which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.
311 7 [P.T.O.
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16. (a) @fshaam 3vft 3 He T GTg & BT TTEHI H g TGN b Fsshor i fafer &
=i <! fofau |
(b) IR (ATH) & THISS 3T T 0T hT YUl fehd TehR Tohat STt 2 7 Frsspuor
& faftr= =t i =men tamfie Tt dfed hifse | i & foea st
gftsehTuT T ATHIfRA TG ST | 5

(a) Write the steps involved in the extraction of pure metals in the middle of the

activity series from their carbonate ores.
(b) How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.

17. (a) Y 3Tad ARl 1 faem SfatsR, =eive auT Bueefis & JRiyew Jomi &
SR E1 U1 & | S AT T ohl Teh—Teh 3ueIedl 3R Toh—Teh HIHT <hi F 1S |
(b) 39 AT 1 A farRaw fram wdvem =g gt fo foneft T 1 v e 39
TLHTY] ST <hl oiT | 3Tfereh STTeed Torerd # |
(c) 3myfes 3 fem fefau | 5

(@) The modern periodic table has been evolved through the early attempts of

Dobereiner, Newland and Mendeleev. List one advantage and one limitation of

all the three attempts.

(b) Name the scientist who first of all showed that atomic number of an element is a

more fundamental property than its atomic mass.

(c) State Modern periodic law.

18. (a) ¥R TRl G Ta=Ei o1 Sooi@ HINT |
(b) YRR T TRl IS~ FfeR o T o1 92 farfaw |
(c) 3fer=g 3R faera o ofi=r areal o1 sHl fofau |
(d) Tmt 3R IR & Heresl o stE g U HlEHTcHS 3T fIfgu | 5

YAl
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(a) Scas o afem forfa |

(b) TRk T U M frie ueheh o1 A fofm |

(c) THE % Icas d i NG Wi 3R I8 W I a9 o 39 9T T AHTH
£ -
() SN FRHATE |
(i) S oTweft ferent & 31X 9ok & g Ghad A 2 |
(i) ToEH I3 @ qe I ueTid T # |

(a) Mention any two components of blood.

(b) Trace the movement of oxygenated blood in the body.

(c)  Write the function of valves present in between atria and ventricles.

(d)  Write one structural difference between the composition of artery and veins.
OR

(a) Define excretion.

(b) Name the basic filtration unit present in the kidney.

(c) Draw excretory system in human beings and label the following organs of

excretory system which perform following functions :
(i) form urine.
(i) is a long tube which collects urine from kidney.

(ii1) store urine until it is passed out.

19. (a) TME S S o e feU TTU Teeh W 1 il forfaw
(i) AvEM,  (if) JeaTed,  (iii) THRE
(b) BT S HEAT 3R I T T T U HIT | 5

(a)  Write the function of following parts in human female reproductive system :
(i) Ovary (i1) Oviduct  (iii) Uterus
(b) Describe in brief the structure and function of placenta.

3111 9 [P.T.O.
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20. (a) IS BH T 3 m g R e wmvg W o 31eRi @l e 76 o T | 98 B

S gfee -2 @ fifea 2 3ue 7w fafav | 30 g % wwifad s fofaw 37 38
T <6t fafer shr samen hifse |

(b) R =i feafenTa 2 ¢ =mwen hifve | 5

e

(a) WME 9 o = T 7T gieh Wt 1 i fefau
() gaett, (i) giaTienT, (i) TReefm @@, (iv) aemTdt afdmt

(b) A I @AH FT T BT 8 P FAT hls STARGAT 0 TS 1 J&0
TegAT O oft B HHAT & 7 U IR I gfee o forw wror i |

(a) A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.

(b)  Why do stars twinkle ? Explain.

OR
(a)  Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (ii1) Crystalline lens (iv) Ciliary muscles
(b) Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

21. (a) RATHT o1 oM B& fam fefau |
(b) Terega mvex 1 Rl fagra forRaw |
(c) forea et o = few o w1 @ ferfam |
(i) SR ()T (i) foved go 5

(a) State Fleming’s left hand rule.
(b)  Write the principle of working of an electric motor.
(c) Explain the function of the following parts of an electric motor.
(1) Armature (i1) Brushes (iii) Split ring
311 10
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Section — B

22. Tl &= 3 @ T@AfTI A 3 B H AU MU 3T Hothe AT W Tothe & A1
forerrt o Tqfifem 91g % %O gohe STo1 | SN 3 GER | H 38 C 37K D TEdforEl §
U T T Ui gethe 31 I Hohe % Seld el § SRR 91q % 39S
BTl | Toper 3tean fore qraferant o 38 o1 1 O1 H uitady fg@Tg m 7 59 SN % SR
W Iooid HIFTT 1 1 i orq Taiferes rfrfspamsficr & s | 2

A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

23. o1 9 TR ST B 91" ot qEHeft | foru u sy iiise o fafore & wifeam
Hothe Taeraq T Srar 2 ¢ affrfea e sififean 1 qarfes i qen 3a
TeR0T | B4 aTed] AT o TehR o1 A fafau | 2

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

24, foret uxht o fescteh § Tl T W01 ht o foTu STEmf ST dIR A hl Ufshan s =won
hl = SR | 2

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

25.  ITHiET < S I TishaT o1 AW fARaU | 39 S 1 wishan o fafim =t =61 3faa wn
# fafia Sifse | 2
e
1% B A T Yopord gRT TeAfiTeh = o TIfi=T <ol 1 Tl wirsg o1 geresfi g

U107 o TET B | 8 TA13S H i1 S YeTul ohid & 38 I Tieeht (hHe) Sisy |
31/1 11 [P.T.O.
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Name the process by which an amoeba reproduces. Draw the various stages of its
reproduction in a proper sequence.

OR
A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

26. 4.0 cm H=ETE H1 HE o0 20 cm ®ishE gl % fhEl 3T oW % YHIRTH b5 O”
30 cm 0 W T&d 2 | s e Wit sl feufa o |mss Id s % foptor sm@
Hifu | 39 3@ T Yo g <O’ d1 &I ®ihd ‘P 3ifeha Hifve | wfafems i
Farg 37 ferar 1 =g o1 ety STuTa ot 3a A | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre

‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

27. Toreht wferierss, fraent ufatie (R) B, & wetfed foega am (1) 37 38eh & < st degedt
faverat (V) & uH i fou 7T sgEn &

V (Ai?) 05 (10|15 |20 |25 |30 40|50

I(TR) | 01]02]03|04]05]06]08] 10
TR (1) 3R et (V) & o= s gifew 3R Ifatierss o1 gfade (R) F1d shif | 2

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 0510|1520 |25 301 40]50
I (amperes) | 0.1 | 02 | 03 | 04 | 05| 06 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.
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